VDIV D OGBSI RDO

& -Tncreasing  Jocalizakion:

Londay Fewwi Ligwd and Heavy Femion [ Coleman]

« Ovewdiew sd Adaa sp "_f-t-P'

w;;;m“?
- (A, Eﬁ’} YI:

& Intereshing physics ocau at ‘Hln Crossete he{umm iteviont amd.

 Jocaized sugtewm.

a f- spm._.m..a.gmgs localizeol
high-T : local  amement malal

ifmu i\ spins“Quench”  to form hoawy Feuions
a Spin-=_localized womert. , when & losk. all i chagge dagree & freedom

eg. CT (UpY: 1=3,8=la,0=[-5= 5

Athu‘gh—f,. Q’_*:'[_]g"-f" , M= g;.,ugJ(Jﬂ}

S‘Q.-. ke o (QT41) [uncgumchei all slcx{eseqmﬂ:,:mpﬂ

& Undor crysal Field , _: Bty I"E [_/\

!HII!

~a A Jos-T, ﬁwnﬂ@uaﬂs&m&m

ke, No= R o MR . () - T
W= e 3(—:%()?:%@ o

a Abthough 4{?}’5? MM&W@ Smmq,wwﬂmmmbd&_
Yeand A, the iy WSM%-[Z;{:W“M

i |
== ost effects -are accoust fou by N¥o) . "L i.“m'
NOTE : achual motecial hollows e idal Line . s
Inf

a Locall momadt interock with ikedant € to fom resonont siodas

S G

“‘E"“ " Tl'-i“’ére

i




- Possible Phoass ¢ heauy feumion system o
A OUBeg - focall momedt —— metal ——— supacconduchon
But Amaditionally (~BcS) ocal momart, is theught o dostrey s .

| a CeaPtyBiz : Kondo maulatoL . .
~a-Ce(Co,Rn,IN T [Ruglivoetall | .

- La.ndau Feuni Liguial.
4 Tum on intewachion @@M@ - Pawdi exclysion => Fernsi

swfbce robwk. . excibakion: specttusa 'presemulu O W =t
Hence &) ST S igp Y m T N(o) T 3

3 .nr'[—'mm 1480 — 1960, it is reaﬂrzed-w-afc one. .can. dip the
Ph@sics bﬂ resinant shmt-mrgccl inteackion

|Leg. Hubbod model , Andagon wodel ; e fe.)

This is 'Pa.c,u?.w.hol bg diswma/’expedmnts on 3He A

a By Podi exclusion , phas spoce. restrichion \J
= e)oe (st -

.-'4-:.-IL-L.-ﬁ-“.ﬂiﬁﬁﬁﬁ“'n“".aa



deasdsobiiiliadgeas

B8
&

e

D S B N

» Thiug we have Lmﬁ:tuexmga-ﬁmchmﬂ |
o Ty Fl Z;rtr (E{ _,;“) Shrd' “'QZ CFPGPG’ Sﬂpu' Sh?ur

A Lmndm enegu —{%’,mcl-:am.ﬂ ~ F‘xeci Fr::-ihf; Mbnm

( Shankos , RMP, ) | (T
4 Wouning 1 Epa = e,if? + Lph! JC popa’ SHF’.:-{EPE'J + 'EFT

This is a feedback (aka -Mf.ﬂ consistent.)_condition ¢ (eaol to

rencrmallization 61) axq{-a:tcm« enoagyy .
A Ewl:mpn( S= —kﬁ pat (anﬂnnFr -+ (l-n,..r).ﬂn(:-—np]]

= pe= T =R e
As T-aofgn,.-ai&_npq = £(&?)

—— 1 =~

Ve =

mﬁ-
a This gve rise 1o u&mmmcapoahﬂ
s a
A By rotabon nuodiance ,%:PPWF’Q- = C‘GPP‘ +:F'F?s ag’
fﬂ \‘F ( = 1? Fu"
— ;Fia (cosh) = EF_j Zg,,o (H.EH) R(ﬂm&}

s Londam prowdlens
s Let 8P = bePlwse) _,
O = ag P (cost) P
M Py A
a From o we find L= T3 R = Jo N0 (1-A)
E‘C: I+ = N"(-:J}O-—Ai}[_maj mm

Whare, A% = T
(The As can ke interpret as T-madrix amplitude fo s-wove Seatki
a Since @s iﬁ,lele. whilg af.: uﬁramwﬂm;fjlbﬂi 0.



I .

s Lol s
arm T
B N i T
. 5 F . 1
i v = -+ T
—— _‘-1_1.-——.:-_ e =
L] ¥ w5
—— ——
J

1 -
MATHY pFRODN M L D |
e o
E— _— e g
| —~ IR R
o g [ !
i ——— iy .
! ;




